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Name:

Put a star by the proportions that are true.

8 72
9 = 8l
11 20
50 = 24
4 12
5 = 20
8 24
3 T 9
1 4
3 T 9
15 3
25 = 5

©www.thecurriculumcorner.com



)
800 00°

0

Name: 63 o

Unit Rate Problems

A fruit box subscription is $105 for one
year. What is the price per month?

A box of granola bars is $3.44. The box has 8
bars. How much does each granola bar cost?

Our class is going on a field trip. Our class had
to pay $243.60 for all 28 of us to go. What is
the cost per student?

We bought a pack of drinks for $8.28.
There were 12 in the box. What is the cost

per drink?
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Name:

Unit Rate Problems

Directions: Solve each problem.

We are buying apples for the
school picnic. Five of the
boxes weighed 150 pounds
total. How many did 7 boxes
weigh?

A candy store sells 50 pieces
of gum for every 40 pieces of
taffy. The store sold 250
pieces of gum yesterday. How
many pieces of taffy did they
sell?

On a map of our city, each
inch represents 10 miles.
What is the length of a road
that is 4 inches long on the
map?

There are 32 granola barsin 4
boxes of granola bars. How
many granola bars are there

in 7 boxes?
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Name:

Finding Percentages

Directions: Write the equivalent
fraction for each percent.

25%

16%

36%

44%

62%

13%

90%

52%
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Name:
Finding Percentages

Directions: Write each answer
in simplest form.

28% of 7

18% of 45

4% of 92

90% of 60

12% of 40

15% of 45

95% of 80

3 % of 25
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Name:

Finding Percentages

Directions: Solve each problem.

| bought a shirt that was $15.
Sales tax is 7%. What is the
amount of sales tax?

James is saving for a new phone.
It will cost $225. The sales tax will
be 6%. What is the total price |
will pay after tax?

There are 656 students in our
school. Twenty-five percent of the
students are going to go to the
football game. How many
students are going to the football
game?

My school collected 1,200 cans in
the food drive. Sixty percent of
the cans were vegetables and the
rest were fruits. How many of
each were collected?
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Name: QO O
Converting Measurements

DDQQ

Research to complete the chart.

Units ofr lengtn

3feet = _____ vard (yd.)
36inches = ______ vard (yd.)
___________ Feet = | mile (mi.)
___________ yards = | mile (mi.)
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Name:

Converting Measurements

Directions: Convert each unit.

15 yd. = ft. H2 ft = yd.

6 yd= in. Y in= yd.

18 in. = ft. 12 yd. = ft.
2yd.9in. = in. 7 yd. 2 ft= in.
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Name: < O
Converting Measurements DO

Research the metric units of weight to
complete the chart.

Unite of Welght

Yavha

lg= _ ___ Mg
_____ kg = 1,000 g

lmmg= _____ g
_____ g = .000l kg
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Name:

Converting Measurements

Directions: Convert each unit.

713mg=______ g 366 kg= ______ g

00g=______ kg 083g= mg
5000g=______ kg 6kg= g

300 mg=______ g 297 g= ______ kg
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Name:

Dividing Numbers

Directions: Write the answer to each problem.
You might need to rewrite the problem first.

768 + 24 = 84 + 12 =
615 + 23 = I3 + 3| =
529 + 56 = 880 + 45 =

S
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Name:

Addition of Decimals

9.484
+6.312

13.365
+27.833

24.456
+24.842

3.7
7.2
+1.8

39.755
+24.757

4.728

+6.8423

472.220

+244.259

68.8
67.9
+24.5
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32.03
37.76
+81.82




Name:

Subtraction of Decimals S

3.488
-6.392

35.285
-24.088

\}/

63.364 28.157
-27.818 -12.842
42.278 382.870
-18.756 -154.258
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s Multiplication of
Decimals
0.82 0.09 0.325

X 7 Xx 0.6 x 0.4

0.73 84.1 0.35
X 4.2 Xx 0.74 X 18
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Name:

Division of Decimals

Directions: Write the answer to each problem.
You might need to rewrite the problem first.

168 + 0.03 = 216 + .06 =

2712 + 0.06 = 0027 - 03 =

S
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Name:

Greatest Common Factor

Q

Q

Directions: Find the GCF for each set of numbers. W
\

32 and HO

O and 12

6 and 12

24 and IS

6 and 4

I8 and 6

o)

15 and 45

o O

AL
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Name:

Multiples

Directions: List the Least Common Multiple.

9and 3

6 and 9

|2 and 8

/ and S

15 and 9

|2 and 18

IO and 6

S
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Name:

Positive and Negative
Integers

B A F D C E

4000000000000 000600000 0>
10-9-87-6-543-21012345678910

Directions: Use integers o name each point on the number line.

A B
C D
E F
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Name:

Use> <or=

Directions: Compare each set of numbers.
Use the correct sign.

2 2 3 7
7 12 6 -4
8 -10 5 -6
9 6 12 1
2 2 12 -10
0 L -4 13 13

©www.thecurriculumcorner.com




Name:

Add or Subtract
9+ (-4) = 5-2-
7+ (-9) = -6 -
3+8-= 8 - (-2) =
T 12-3=
16+ 0 = T
0+(-8)-= |+ 2=
|+ (-3) = 7+(-7)=

S's
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Name:

Solve each equation.

5x(5-3) =
20—4x3 =
(7x8)—(4x9)=
20+2x5=

84 +(8+6)+ 3=
(2x5)x4-=
(7-3)x4=

16 +(12-4) =

oo

7X3+2=
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Name:

Simplifying Expressions
Directions: Use the order of operations to
simplify each expression.

(10 x 9) + 15

(32 +4) + (10-9)

27 - (6x4)

(7x8)+2+6

(42+6) x 9

(9+6) x (18-5)

10.8 = (5 + 4)

2.4 (5x4.8—2.9)

©www.thecurriculumcorner.com



Name:

Solve each equation.

(3+1) =
32+ 52=
(2+5)3=
32+23=
(4 +2)° =
(5-1)3=
24-10 =
22+ 42 =
Ci> (2+2)°*-3=
W
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Name:

Writing Equations

Directions: Rewrite each sentence as an equation. g

Three times a number

is 18.

1

—

Sixty less than a

number is 32.

Four times a number is

36.

Sixteen divided by a

number 4.

The product of 6 and a

number is 72.

Nine times a number is

8l.

Eight decreased by a

number is 2.

A number minus 8 is |7

S
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Name:

Evaluate each expression.
a=2,x=-3andy=-2

X (ax + ay)=
ay +y-5x=__
4x-(xy+2)= ___
5x (Ba+-4y) +-3y=__
3xy-2x (4a-8y)=__

oo
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REACH

Name:

Simplifying Expressions

3 (2a - 8b)

2x (3y +-6)

7 (-5x + 82)

-Sy (6z - 10)

-2x (-7 + 8y)

y (-I3) + 2x

D @ ©www.thecurriculumcorner.co m



Name:

Solve each equation.

t+5=9
b+7=19
m-5=5__
X—-4=18
Xx+6=20_
n+8=13
X—2=8_
x+0=9

b+5=5=

oo
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Name:

O

Solve each equation.

4xa=16_

b+5=15

13xn=91

c+10=40__

nx4=56__

/xy=91
o 5xb=85_
T

fx19 =152
s+-/7=16
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Name:

Solving Inequalities

X+95>8 t-YH<l
2<m+6 p+H4<35
15>7+n x-6>8
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Name:

S

Finding the perimeter and area.

Directions: Determine the perimeter and area of each shape.

3.1in

24 in

The perimeter is:

The area is:

11.7 mm

8.2 mm

The perimeter is:

The area is:

101 m

3.8 m

The perimeter is:

The area is:

7.5 cm

14.2 cm

The perimeter is:

The area is:
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Name:

Finding Area

Directions: Determine the area of each triangle.

A=3xbxh
area =
11
cm
area =
15 cm
13
cm
23 cm
9 ft
area =
12 ft
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Name:

Measures of Central Tendency

BEACH

mean - —
median
8, 12, 23, | mode
2,15 |ronee
52, 6|, |median
74, 78, ZZZZ
06, /9, /I
3490, |
6/, 83, |mode
84, 48, |"°
37

TS
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Name: o
Dividing Multiples of 10 and 100

36 6= 360+ 6 = 3,600+ 6=
56 +7 = 560 + 7 = 5,600 +7 =
25 +5= 250 +5 = 2,500+ 5 =
24 + 6= 240 + 6 = 2400+ 6 =
81+9-= 810+ 9= 8,100 + 9 =
64 + 8 = 640 + 8 = 6,400 + 8 =
42 - 6 = 420+ 6 = 4,200 = 6 =

Sy
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Ordered Pairs

BECCRHRECIN

|
o R
it )]

O

N o w A o N O
@R

AN @@
{mmd
; 1 2 3 4 5 6 7 8

ldeﬂtiFU the location of' each PIC’(UPG bU writing the ordered pair:

)

" = ( ) )
7 - ( ) 8 - ( )
O v
0. :' ..\:. = ( , ) 10. ' = ( ) )
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Ordered Pairs
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ANSWERKEY

Put a star by the proportions that are true.

8 72
*9-‘-81
1 20
20 = 24
4 12
5 = 20
8 24
*3=9
1 4
3 T 9
15 3
*25=5
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ANSWERKEY 8
Unit Rate Problems

A fruit box subscription is $105 for one
year. What is the price per month?

$875

A box of granola bars is $3.44. The box has 8
bars. How much does each granola bar cost?

43¢

Our class is going on a field trip. Our class had
to pay $243.60 for all 28 of us to go. What is
the cost per student?
$870

We bought a pack of drinks for $8.28.
There were 12 in the box. What is the cost

per drink?
D 0¢
D
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ANSWERKEY

Unit Rate Problems

Directions: Solve each problem.

We are buying apples for the
school picnic. Five of the
boxes weighed 150 pounds 210 lbs
total. How many did 7 boxes
weigh?

A candy store sells 50 pieces
of gum for every 40 pieces of
taffy. The store sold 250 ‘
pieces of gum yesterday. How ZOO pleces mc 1-aﬁ:y
many pieces of taffy did they
sell?

On a map of our city, each
inch represents 10 miles.

What is the length of a road 40 miles
that is 4 inches long on the
map?

There are 32 granola barsin 4

boxes of granola bars. How
many granola bars are there 56 gram)la bars
in 7 boxes?
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ANSWERKEY

Finding Percentages

Directions: Write the equivalent

fraction for each percent.

—
25% T

16% %

36% %

44% %5

o | 2

13% go

90% %
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ANSWERKEY

Finding Percentages

Directions: Write each answer

in simplest form.

28% of 7 196
18% of 45 8l
4% of 92 368
90% of 60 54
12% of 40 48
15% of 45 6.15
95% of 80 16
3 % of 25 15
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ANSWERKEY
Finding Percentages

Directions: Solve each problem.

| bought a shirt that was $15.
Sales tax is 7%. What is the $105
amount of sales tax?

James is saving for a new phone.

It will cost $225. The sales tax will
be 6%. What is the total price | $23850
will pay after tax?

There are 656 students in our
school. Twenty-five percent of the
students are going to go to the
football game. How many Ib4 S+Uden+s
students are going to the football

game?
My school collected 1,200 cans in
the food drive. Sixty percent of 120 \/egeJrables
the cans were vegetables and the _
rest were fruits. How many of 480 fruits

each were collected?
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ANSWERKEY | QO O
Converting Measurements

DDQQ

Research to complete the chart.

Units ofr lengtn

3 feet = __1__ yard (yd)
36 inches = __|___ vard (yd)
_2.280____ feet = I'mile (mi)

___L160 ___ vards = | mile (mi)
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ANSWERKEY
Converting Measurements

Directions: Convert each unit.

5yd = 45 ft Q= 14 yd
6yd= 2bin MHin= 4 vyd
Bin= | ft 2yd= % ft

2yd.9in.= 8 in 7yd2ft= 216 in
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ANSWERKEY < O
Converting Measurements DO

Research the metric units of weight to
complete the chart.

Unite of Welght

Yavha

lg=_____ 1000____ mg
__l_ _kg=1000g

lmg = oo g
__1__g=.000lkg
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ANSWERKEY
Converting Measurements

Directions: Convert each unit.

73 mg = 30 g 3.66 kg = 3061 g
900 g = a1 kg 083 g-= 830 mg
5,000 g = __2__kg 16 kg = _h000_4
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ANSWERKEY

Dividing Numbers

Directions: Write the answer to each problem.
You might need to rewrite the problem first.

768 + 24 = 84 + 12 =
3 ]
6lS + 23 = qI3 = 3| =
7
26 73 70'71,*
929 + 56 = 880 + 4S5 =
75 25
9 ¢, 145

S
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ANSWERKEY

Addition of Decimals &\ %

9.484 13.365 4.728

+6.312 +27.833 +6.8423

15.796 H1.198 15703
24.456 39.755 472.220
+24.842 +24.757 +244.259
H9.298 64.512 716479

3.7 68.8 32.03

7.2 6/.9 37.76

+1.8 +24.5 +81.82

12.7

161.2

©www.thecurriculumcorner.com
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ANSWERKEY

Subtraction of Decimals S

3.488
-6.392

2.096

35.285
-24.088

1197

\}/

63.364 28.157
-27.818 -12.842
39.946 19.315
42.278 382.870
-18.756 -154.258

23.522 228.612
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ANSWERKEY

s Multiplication of

Decimals
0.82 0.09 0.325
X 7 Xx 0.6 Xx 04
5.74 054 13
0.73 84.1 0.35

X 4.2 X 0.74 X 18
3.066 62.234 6.3
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ANSWERKEY

Division of Decimals

Directions: Write the answer to each problem.
You might need to rewrite the problem first.

168 + 0.03 =

06

216 + .06 =

1296

2712 + 0.06 =

16272

0027 - 03 =

008

S
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Q

ANSWERKEYG tast C Bact ©
reatest vommon rracior
Directions: Find the GCF for each set of numbers. \ W
32 and HO
O and 12 |
16 and 12 H
24 and 15 3
6 and H 2
18 and 6 6
IS and L|5 |5
o) oo
L

©www.thecurriculumcorner.co m




ANSWERKEY

Multiples
Directions: List the Least Common Multiple.

9and 3

6 and 9 18
12 and 8 24
7/ and S 39
19 and 9 Ho
2 and 18 36
10 and 6 30

S
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ANSWERKEY
Positive and Negative
Integers
B A F D C E

4000000000000 000600000 0>
10-9-87-6-543-21012345678910

Directions: Use integers o name each point on the number line.

A -7 B -10
C 5 D O
E 9 F -3
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ANSWERKEY

Use> <or=

Directions: Compare each set of numbers.
Use the correct sign.

©www.thecurriculumcorner.com

2 > -2 3 V4
-7 < 12 6 -4
8 > | -10 -5 -6
9 > 6 -12 -1
2 > -2 -12 -10
0 L > -4 13 -13




ANSWERKEY

Add or Subtract
9+ (4)=5 5-2=3
7+ (-9) -2= 4-6=-0
-3+8=0 8-(-2)=10
Y4723 12-3=-I5
-16 + O = -16 H-19=-I5
O+ (-8)=-8 -l +2=
|+ (-3) = -2 7+(-7)=0

S's
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ANSWERKEY
Solve each equation.
5x(5-3)= 10
20—4x3=_38

(7x8)—(4x9)=_20

20+2x5= 950

84 +(8+6)+ 3=_2
(2x5)x4= 40
(7—3)x4=_16

16 +(12-4)=_2

oo

7x3+2= 23
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ANSWERKEY
Simplifying Expressions

Directions: Use the order of operations to
simplify each expression.

(10 x 9) + 15 6
(32 +4) + (10-9) 9
27 - (6x4) 3
(7x8)+2+6 34
(42+6) x 9 63
(9+6) x (18-5) 195
10.8 + (5 + 4) 1.2
2.4 (5x4.8-2.9) 50.64
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ANSWERKEY

Solve each equation.

(3+1) =
32+ 52=
(2+5)3=
32+23=
(4 +2)° =
(7-1)°=
24-10 =
22+ 42 =
(2+2)°*-3=

64

34

343

72

36
216
216

48

61
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ANSWERKEY

Writing Equations

Directions: Rewrite each sentence as an equation. g

Three times a number

is 18.
3xn=18

1

—

Sixty less than a

number is 32.

t-60=32

Four times a number is

36.
4 xn= 36

Sixteen divided by a

number 4.

16 -r=4

The product of 6 and a

number is 72.

6xw=36

Nine times a number is

8l.
O x k=281

Eight decreased by a

number is 2.

8-n=2

A number minus 8 is |7

n-8=17

S
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ANSWERKEY

Evaluate each expression.
a=2,x=-3andy=-2

x(c1x+c1y)=3_O

ay +y-5x=_9

4x - (xy +2) = 20
5x (8a + -4y) + -3y = -394
3xy - 2x (4a - 8y) = 276

oo
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ANSWERKEY SiSaSs

Simplifying Expressions

—
3 (2a - 8b) 6a - 24b
2x (3y + - 6) 6xy - 12X
7 (-5x + 82) -35x + 562
-Sy (62 - 10) -30yz + 50y
2x (-7 + 8y) 14x - 16xy
y (-I13) + 2x -13y + 2xy

D @ ©www.thecurriculumcorner.com



ANSWERKEY

Solve each equation.

t+5=9 t=4
b+7=19 b=12
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ANSWERKEY

Solve each equation.

4xa=16 a=4

b+5=15 b=7/5
13xn=91 n=/

c+ 10 =40¢=400

nx4 =56 n=14

7xy=91 y=13

o 5xb =85 b=17
T

fx19=152 =8

s+7=16s=112
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ANSWERKEY

Solving Inequalities
X+5>8 t-H<l
X >3 <15
2<m+6 p+4<35
m>6 p < 31
I9>7+n x-6>8
n<8 x> 14
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ANSWERKEY

S

Finding the perimeter and area.

3.1in

24 in

The perimeter is:
11 in
The area is:

7.44 in’

11.7 mm

The perimeter is:

39.8 mm

The area is:

95.94 mm ?

Directions: Determine the perimeter and area of each shape.

101 m

3.8 m

The perimeter is:

27.8 m

The area is:

38.38 m’

8.2 mm

7.5 cm

14.2 cm

The perimeter is:

434 cm

The area is:

106.5 cm?
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ANSWERKEY
Finding Area

Directions: Determine the area of each triangle.

A=3xbxh
area =
82.5 cm2
11
cm
area =
1495 cm*
15 cm
13
cm
23 cm
9 ft
area =
54 cm
12 ft
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ANSWERKEY

Measures of Central Tendency

BEACH

mean M =
median 12
8, |2, 23, mode |2
|2, 15 range 5
mean 68
52’ 6|, median /I
mode /9
7q’ 78’ range 27
o6, 79, /|
mean 98
37’ 50, median 90
67, 83, mode 37/
8"', L|8, range Y7/
37

TS
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ANSWERKEY g0

Dividing Multiples of 10 and 100

36-6:=6 360 = 6 =60 (3)§(§)O+6:
56:7-8  |560:7-80 |2800%77
25+5=5 250 = 5 =50 52-,&)55)%5:
24:6=4 240 = 6 = 40 36)45)0+6:
81+-9:=9 810 = 9 = 90 gggO+9:
64-8=8 640 - 8 = 80 26480+8:
42+6=7 420+ 6 = 70 ‘7‘625)0%:

Sy
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ANSWERKEY Ordered Pairs
BEGCMEIN

5T I
7 O- N
6
5 O
4
0 1 2 3 4 5 6 7 8

ldeﬂtiFU the location of' each PIC’(UPG bU writing the ordered pair:

:(LI Z) :(717)
:(Z |) :(8,3)
5. Ly L (L 1)
7. Do (55 (6, 1)
9 ::::’3. (4 7)) 10. (1l 5 )
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ANSWERKEY Ordered Pairs

SR v
9. :'"\5 =(4 7 ) 10. Y =(- ., -2
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